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QUESTION 1

Which is the correct syntax for using a previously defined LITI concept rule, "\\'Date_of Diagnosis\\'\\' in a category

rule?

A. (_tmac, " [Date_Of_Diagnosis} ")
B. (AND, "{Date_Of_Diagnosis)"} ")
C. (AND, "[Data_Off_Diagnosis]\} ")
D. (_tmac, "{Date_Of_Diagnosis} ")

Correct Answer: D

QUESTION 2

Which document structures are NOT identifiable using LITI rules\\'?
A. sentences

B. pages

C. words

D. paragraphs

Correct Answer: B

QUESTION 3

Which statement is TRUE concerning the "dropout” option?

A. It specifies the number of neurons to drop from each layer of the network

B. It specifies the percentage of neurons to drop from a given layer of the network
C. It specifies the percentage of neurons to drop from the entire network

D. It specifies the number of layers to drop from the entire network

Correct Answer: B

QUESTION 4
What is the primary purpose of the Topics node?

A. Document clustering
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B. Supervised categorization
C. Information retrieval
D. Unsupervised categorization

Correct Answer: D

QUESTION 5

Complete the concept rule by adding the Boolean Operator that should be used to find concepts where the term "best”
appears within five tokens of the term "picture”

CONCEPT_RULE ( . "best”, "_c{picture}")

Enter your answer in the field above.
A.DIST_5

Correct Answer: A
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